| Efficiency vs Dxy |

> 0.2
< C

5 - : : 5 : : :
0 018 P preee e R
< : : : : : :
R
o O : : g : : :
2 0.14p e e e /. A
P S
T
0,08
0.06F --------- -------- ------------- --------

eff

N
0.02f+-wiererrsber

O_IIII;IIII;II
LA

Ratio

L2

510 15 20
TP dxy (cm)

—=— DQM_original_stepZ_tibar-phaseI-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

0.5

dz

045 |
| O

ciency

0.5+

OJ0ls| R

£ 0,35
© :

0.3t
O L] R R
V] SRR S

O

—+— DQM_pixelCPETemplateCutChiSquareNew?2_step?2_ttbar-phasel-newgeom

.................................................

0
1.4

Ratio

1.2

"
19-

30 20 -10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


